ECE 476/576

HW #6
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c=Ay g-o-[g(vo) =— ] =9.68x10-18 cm2; yy = 0.05 cm~1 = 6:AN;
n Vh
AN =5.17 x 10*15 cm™3; I = hv/oTp = 193.5 W/em?
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- O'=A21&-2-[g(VQ) =-—-2 ]:44x 10-14 cm?;
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hvle =23 eV; vV =18,552 cm-1; A =0.539 um
N6 =0.01 cm-1;.. N3 =226 x 10+11 cm-3;
0 el s L)
720 T21
~Ry=34x10*18 cm-3fsec; - =L 4 1 = 1.5 1047 sec-1;
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Is = (hv/oT) = 125.4 W/cm? and the Pump power = R3-5.5 x 16 x10-19 = 2.99 W/cm3;
AViV =AM ; . AL =0.0968 A; AV = (1010sec-1)+(3 x 10+10cm/sec) = 0.333 cm-1
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B—f =& =§ W= A g(v) [N2- &8, fswav=1=139 Hzgovp
. g(vg) = x 10-9 sec; If N2 =Nj = 1012 cm-3 (error in printing in 2nd Ed)
~ Ny é N = ~5- x 1012 cm3; yo(vp) = 4.35 x 10-2 crn-1
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Tp= i:% = 13.1 nsec; Is RjRyT4 explyo2lg) 2 1 or
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IS'Y()>-RIR7{—4.9X103Cm1

sSYo<o o No, it will not oscillate; E = Egay



